

Multiply by 10^{-3} (H)

Find each product.

$$31 \times 10^{-3} =$$

$$29 \times 10^{-3} =$$

$$71 \times 10^{-3} =$$

$$6 \times 10^{-3} =$$

$$38 \times 10^{-3} =$$

$$64 \times 10^{-3} =$$

$$66 \times 10^{-3} =$$

$$50 \times 10^{-3} =$$

$$98 \times 10^{-3} =$$

$$24 \times 10^{-3} =$$

$$25 \times 10^{-3} =$$

$$68 \times 10^{-3} =$$

$$89 \times 10^{-3} =$$

$$42 \times 10^{-3} =$$

$$61 \times 10^{-3} =$$

$$93 \times 10^{-3} =$$

$$63 \times 10^{-3} =$$

$$66 \times 10^{-3} =$$

$$34 \times 10^{-3} =$$

$$84 \times 10^{-3} =$$